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REAMAINDER

1. Find the remainder when 1! + 2! + 3! +4! + 5!
+ _________  1000! is divided by 8.

1! + 2! + 3! + 4! + 5! + _________  1000! dks 8 ls
foHkkftr djus ij 'ks"k Kkr dhft,A

(a) 1 (b) 2

(c) 3 (d) 4

2. Find the remainder when 51203 is divided by 7.

51203 dks 7 ls foHkkftr djus ij 'ks"kiQy Kkr djsaA

(a) 2 (b) 3

(c) 4 (d) 5

3. Find the remainder when 2787 × 2345 × 1992 is
divided by 23.

2787 × 2345 × 1992 dks 23 ls foHkkftr djus ij 'ks"kiQy
Kkr djsaA

(a) 1 (b) 2

(c) 0 (d) 5

4. Find the remainder when 341 +782  is divided
by 52.

341 + 782  dks 52 ls foHkkftr djus ij 'ks"kiQy Kkr djsaA

(a) 0 (b) 1

(c) 2 (d) 3

5. Find the remainder when 163 + 173 +183 +193  is
divided by 70.

163 + 173 +183 +193  dks 70 ls foHkkftr djus ij 'ks"k
Kkr djsaA

(a) 69 (b) 0

(c) 68 (d) 51

6. Find the remainder when 1 2 3 4 5 _________
41 digits  is divided by 4.

1 2 3 4 5 _________ 41 vadksa  dks 4 ls foHkkftr djus
ij 'ks"kiQy Kkr djsaA

(a) 1 (b) 3

(c) 2 (d) 0

7. Find the remainder when 101 + 102 +103 +
104  + __________ +  10100   is divided by 6.

101 + 102 +103 + 104  + __________ +  10100, 6 ls
foHkkftr djus ij 'ks"kiQy Kkr djsaA

(a) 3 (b) 1

(c) 5 (d) 4

REAMAINDER ('ks"kiQy)
(Practice Question With Solution)

8. Find the remainder when 2469 + 3268   is divided
by 22.

2469 + 3268 dks 22 ls foHkkftr djus ij 'ks"kiQy Kkr djsaA

(a) 10 (b) 11

(c) 12 (d) 15

9. Find the remainder when 77 + 777 +  7777 +
77777  + – – – – – – +  7777777777   is divided by 6.

77 + 777 +  7777 + 77777  + – – – – – – +  7777777777 dks
6 ls foHkkftr djus ij 'ks"kiQy Kkr djsaA

(a) 2 (b) 3

(c) 5 (d) 6

10. Find the remainder when 2310 – 1024 is divided
by 7.

2310 – 1024 dks 7 ls foHkkftr djus ij 'ks"kiQy Kkr djsaA

(a) 6 (b) 5

(c) 0 (d) 3

11. Find the remainder when 22225555  + 55552222 
is divided by 7

22225555  + 55552222 dks 7 ls foHkkftr djus ij 'ks"kiQy
Kkr djsa

(a) 3 (b) 2

(c) 6 (d) 0

12. If 3 divided the integer n, the remainder is 2.
Then what will be the remainder when 7n
divided by 3.

;fn iw.kkZad n dks 3 ls foHkkftr fd;k tk,] rks 'ks"kiQy
2 vkrk gSA rks 7n dks 3 ls foHkkftr djus ij 'ks"kiQy
D;k gksxk\

(a) 3 (b) 2

(c) 6 (d) 4

13. A number when divided by 18 leaves a
remainder 7. The same number when divided
by 12 leaves a remainder n. How many values
can n take?

,d la[;k dks tc 18 ls Hkkx fn;k tkrk gS rks 'ks"kiQy 7
cprk gSA mlh la[;k dks tc 12 ls foHkkftr fd;k tkrk gS
rks 'ks"kiQy n jgrk gSA n fdrus eku ys ldrk gS\

(a) 2 (b) 0

(c) 1 (d) 3
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14. N leaves a remainder of 4 when divided by 33,
what are the possible remainders when N is
divided by 55?

N dks 33 ls foHkkftr djus ij 4 'ks"k cprk gS] tc N

dks 55 ls foHkkftr fd;k tkrk gS rks 'ks"kiQy D;k gks ldrk
gS\
(a) 3 (b) 5

(c) 4 (d) 2

15. The sum of the digits of two-digit number is

1

7
 of the number. The unit digit is 4 less than

the tens digit. If the number obtained on
reversing its digit is divided by 7, The
remainder will be.

nks vadksa dh la[;k ds vadksa dk ;ksx la[;k dk 
1

7
 gSA

bdkbZ dk vad ngkbZ ds vad ls 4 de gSA ;fn mlds vad
dks myVus ij çkIr la[;k dks 7 ls foHkkftr fd;k tk,]
rks 'ks"kiQy gksxkA
(a) 4 (b) 5

(c) 1 (d) 6

16. What is the remainder when 1! + 2! + 3! + ........
+ 100! is divided by 5.

tc 1! + 2! + 3! + ........ + 100! dks 5 ls foHkkftr
fd;k tkrk gS rks 'ks"k D;k gSA
(a) 2 (b) 4

(c) 1 (d) 3

17. Consider a large number

N = 1234567891011121314…..... 979899100.

What is the remainder when first 100 digits of
N is divided by 9?

cM+h la[;k ij fopkj djsa N ¾ 1234567891011121314----
--- 979899100- N ds igys 100 vadksa dks 9 ls foHkkftr
djus ij 'ks"kiQy D;k gksxk\
(a) 0 (b) 8

(c) 1 (d) 5

18. Given a number, N = 553 + 173 – 723, then
which of the following is true?

,d la[;k nh xbZ gS] N = 553 + 173 – 723 rks fuEu esa
ls dkSu lk lR; gS\
(a) N is divisible by both 7 and 13

N 7 vkSj 13 nksuksa ls foHkkftr gS
(b) N is divisible by both 3 and 17

N 3 vkSj 17 nksuksa ls foHkkftr gS
(c) N is divisible by 17 but not 3

N 17 ls foHkkftr gS ysfdu 3 ugha
(d) N is divisible by 11 but not 17

N 11 ls foHkkftr gS ysfdu 17 ugha

19. The integers 573921 and 575713 when divided
by a 3 digit number leave the same remainder.
What is that 3 digit number?

iw.kkZad 573921 vkSj 575713 dks tc 3 vadksa dh la[;k ls
foHkkftr fd;k tkrk gS rks ogh 'ks"k cprk gSA og 3 vadksa
dh la[;k D;k gS\
(a) 206 (b) 256

(c) 274 (d) 189

20. If N = (243 + 253 + 263 + 273), then N divided
by 102 leaves a remainder of?

vxj N = (243 + 253 + 263 + 273)] rks N dks 102 ls
Hkkx nsus ij D;k 'ks"k cprk gS\
(a) 18 (b) 12

(c) 1 (d) 0

21. The remainder when 
292929  divided by 9 is.

292929 dks 9 ls foHkkftr djus ij 'ks"kiQy gksrk gSA
(a) 1 (b) 2

(c) 3 (d) 4

22. Find the remainder when 73 + 75 + 78 + 57 +
197 is divided by 34

73 + 75 + 78 + 57 + 197 dks 34 ls foHkkftr djus
ij 'ks"kiQy Kkr dhft,
(a) 3 (b) 4

(c) 5 (d) 6

23. Find the remainder when 73 × 75 × 78 × 57 ×
197 × 37 is divided by 34.

73 × 75 × 78 × 57 × 197 × 37 dks 34 ls foHkkftr
djus ij 'ks"kiQy Kkr dhft,A
(a) 31 (b) 33

(c) 32 (d) 34

24. 25102   divide by 17 gives the remainder as.

25102 dks 17 ls foHkkftr djus ij 'ks"kiQy çkIr gksrk gSA
(a) 2 (b) 6

(c) 1 (d) 4

25. If each of the two numbers 516 and 525 are
divided by 6, the remainders are R

1
 and R

2
,

respectively. What is the value of 
1 2

2

R R

R
 ?

;fn nks la[;kvksa 516 vkSj 525 esa ls izR;sd dks 6 ls foHkkftr

fd;k tkrk gS] rks 'ks"kiQy Øe'k% R
1
 vkSj R

2
 gSaA 

1 2

2

R R

R

dk eku D;k gS\

(a)
1

6
(b)

5

6

(c)
1

5
(d)

6

5
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26. If a number is divisible by 624, the remainder

will be 53. If the same number is divisible by

16, then the remainder will be:

;fn fdlh la[;k dks 624 ls foHkkftr fd;k tkrk gS] rks
'ks"kiQy 53 izkIr gksrk gSA ;fn mlh la[;k dks 16 ls foHkkftr
fd;k tk,] rks 'ks"kiQy D;k gksxk\
(a) 5 (b) 4

(c) 7 (d) 6

27. When a number is divided by 3, the remainder

is 2. Again, when the quotient is divided by 7,

the remainder is 5. What will be the remainder

when the original number is divided by 21?

tc fdlh la[;k dks 3 ls foHkkftr fd;k tkrk gS] rks
'ks"kiQy 2 vkrk gSA fiQj] tc HkkxiQy dks 7 ls foHkkftr
fd;k tkrk gS] rks 'ks"kiQy 5 vkrk gSA ewy la[;k dks 21 ls
foHkkftr djus ij 'ks"kiQy fdruk gksxk\
(a) 13 (b) 16

(c) 14 (d) 17

28. If 3147 + 4347 is divided by 37, the remainder

is:

;fn 3147 + 4347 dks 37 ls foHkkftr fd;k tk,] rks
'ks"kiQy gS%
(a) 1 (b) 3

(c) 0 (d) 2

29. When (224 – 1) is divided by 7, the remainder is:

(224 – 1) dks 7 ls foHkkftr djus ij fdruk 'ks"kiQy
cpsxk\
(a) 4 (b) 2

(c) 3 (d) 1

30. When an integer n is divided by 6, the

remainder is 5. What is the remainder if 9n is

divided by 6?

tc iw.kk±d n dks 6 ls foHkkftr fd;k tkrk gS] rks 'ks"kiQy
5 izkIr gksrk gSA ;fn 9n dks 6 ls foHkkftr fd;k tkrk gS]
rks 'ks"kiQy Kkr djsaA
(a) 4 (b) 3

(c) 5 (d) 2

31. What is the remainder when the product of

335, 608 and 853 is divided by 13?

335] 608 vkSj 853 ds xq.kuiQy dks 13 ls foHkkftr djus
ij izkIr 'ks"kiQy D;k gksxk\
(a) 11 (b) 12

(c) 6 (d) 7

32. What is the remainder when 1! + 2! + 3! …

100! is divided by 18?

'ks"kiQy D;k gksxk tc 1! + 2! + 3! … 100!, 18 ls
foHkkftr fd;k tkrk gS\
(a) 10 (b) 11

(c) 9 (d) 8

33. What is the remainder when 3333 ….. 300
times is divided by 999?

3333 ….. 300 dks 999 ls foHkkftr djus ij 'ks"kiQy
D;k gksxk\

(a) 0 (b) 3

(c) 444 (d) 555

34. What is the remainder when 3040 is divided by
7?

3040 dks 7 ls foHkkftr djus ij 'ks"kiQy D;k gksxk\

(a) 2 (b) 3

(c) 4 (d) 5

35. Find the remainder when 21875 divided by 17?

21875 dks 17 ls foHkkftr djus ij 'ks"kiQy Kkr djsa\

(a) 12 (b) 14

(c) 16 (d) 13

36. What is the remainder when 21040 is divided by
131?

21040 dks 131 ls foHkkftr djus ij 'ks"kiQy D;k gksxk\

(a) 130 (b) 1

(c) 125 (d) 0

37. What will be the remainder when 2727 + 27

is divided by 28?

tc 2727$27 ds eku dks 28 ls foHkkftr fd;k tk,]
rks 'ks"kiQy fdruk gksxk\

SSC CGL 01/12/2022 (Shift- 03)

(a) 28 (b) 27

(c) 25 (d) 26

38. What will be the remainder when 742 is divided

by 48?

tc 742 dks 48 ls foHkkftr fd;k tk,] rks 'ks"k Kkr
dhft,A

SSC CGL 03/12/2022 (Shift- 02)

(a) 2 (b) 3

(c) 1 (d) 0

39. A number when divided by 7 leaves remainder

of 4. If the square of the same number is

divided by 7, then what is the remainder?

fdlh la[;k dks 7 ls foHkftr djus ij 4 'ks"kiQy cprk
gSA ;fn mlh la[;k ds oxZ dks 7 ls foHkkftr fd;k
tk,] rks 'ks"kiQy D;k gksxk\

SSC CGL 03/12/2022 (Shift- 03)

(a) 3 (b) 1

(c) 4 (d) 2
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40. On dividing a certain number by 363, we get

17 as the remainder. What will be the

remainder when the same number is divided

by 11?

,d la[;k dks 363 }kjk foHkkftr fd;k tkrk gS rks
'ks"kiQy 17 izkIr gksrk gSA tc mlh la[;k dks 11 }kjk
foHkkftr fd;k tk,xk rks 'ks"kiQy D;k gksxk\

SSC CGL 05/12/2022 (Shift- 02)

(a) 7 (b) 8

(c) 6 (d) 9

41. Find the remainder when we divide 3x4 – 2x²

+4x – 1 by 2x – 1.

3x4– 2x² +4x – 1 dks 2x – 1 }kjk foHkkftr djus
ij izkIr 'ks"kiQy Kkr dhft,A

SSC CGL 07/12/2022 (Shift- 04)

(a) 2 (b) 3

(c)
11

16
(d)

15

16

42. A number when divided by 221, leaves a

remainder 30. If the same number is divided

by 13, the remainder will be:

fdlh la[;k dks 221 ls foHkkftr djus ij 'ks"kiQy 30
jgrk gSA ;fn mlh la[;k dks 13 ls foHkkftr fd;k tk,]
rks 'ks"kiQy Kkr dhft,A

SSC CGL 08/12/2022 (Shift- 01)

(a) 4 (b) 3

(c) 2 (d) 1

43. If the number 123456789 is divided by 9, then

the remainder is:

;fn la[;k 123456789 dks 9 }kjk foHkkftr fd;k tkrk
gS] rks 'ks"kiQy D;k gksxk\

SSC CGL 09/12/2022 (Shift- 02)

(a) 0 (b) 1

(c) 2 (d) 3

44. The remainder when 1919+20 is divided by 18 is:

tc 1919 + 20 dks 18 ls foHkkftr fd;k tk,] rks 'ks"k
Kkr dhft,A

SSC CGL 09/12/2022 (Shift- 04)

(a) 3 (b) 2

(c) 1 (d) 0

45. When m12– 1 is divided by m + 1, the

remainder is:

tc m12–1 dks m + 1 }kjk foHkkftr fd;k tkrk gS]
rks 'ks"kiQy D;k gksxk\

SSC CGL 13/12/2022 (Shift- 01)

(a) 1 (b) 2

(c) 0 (d) –1

46. If 3 divided the integer n, the remainder is 2.

Then, what will be the remainder when 7n is

divided by 3.

;fn iw.kkZad n dks 3 ls foHkkftr fd;k tk,] rks 'ks"kiQy 2
vkrk gSA rc] 7n dks 3 ls foHkkftr djus ij 'ks"kiQy D;k
gksxk\
(a) 3 (b) 2

(c) 6 (d) 4

47. What is the remainder of 15 + 25 + 35 + 45 + 55

+ 65 + 75 + ........ + 505 when divided by 5

15 + 25 + 35 + 45 + 55 + 65 + 75 + ........ + 505 dks
5 ls foHkkftr djus ij 'ks"kiQy D;k gksxk\
(a) 3 (b) 4

(c) 2 (d) 0

48. Find the Remainder when 77 × 85 × 73 is

divided by 9.

77 × 85 × 73 dks 9 ls foHkkftr djus ij 'ks"kiQy Kkr
dhft,A
(a) 1 (b) 2

(c) 4 (d) 7

49. Find the Remainder when 273 + 375 + 478 +

657 + 597 is divided by 25.

273 + 375 + 478 + 657 + 597 dks 25 ls foHkkftr
djus ij 'ks"kiQy Kkr dhft,A
(a) 5 (b) 10

(c) 9 (d) 8

50. Find the Remainder when (1213 + 2313) is

divided by 11.

(1213 + 2313) dks 11 ls foHkkftr djus ij 'ks"kiQy Kkr
dhft,A
(a) 2 (b) 1

(c) 0 (d) 3

......-------......
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Answer Key

1.(a) 2.(c) 3.(c) 4.(a) 5.(b) 6.(a) 7.(d) 8.(b) 9.(b) 10.(c)

11.(d) 12.(b) 13.(a) 14.(c) 15.(d) 16.(d) 17.(a) 18.(b) 19.(b) 20.(d)

21.(b) 22.(b) 23.(c) 24.(d) 25.(d) 26.(a) 27.(d) 28.(c) 29.(d) 30.(b)

31.(d) 32.(c) 33.(a) 34.(a) 35.(d) 36.(b) 37.(d) 38.(c) 39.(d) 40.(c)

41.(c) 42.(a) 43.(a) 44.(a) 45.(c) 46.(b) 47.(d) 48.(b) 49.(a) 50.(a)
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SOLUTIONS
1. (a)

1! 2! 3! .........1000!

8

  

1 2 6 24 ..........

8

   

After 3! all No. divisible by 8

So, Remainder  
1 2 6

= = 1
8

 

2. (c)

20351

7

203 203(49 2) (0 2)
=

7 7

 


67 67(2³) .2² 8 .2²
= = 4

7 7


3. (c)

 87 45 9227 23 19

23

87 92(4) 0 (–4)
=

23

 
 = So, Remainder = 0

4. (a)

41 823 7

52




41 413 (7²)
 

52




41 413 49
 

52
= So, Remainder = 0

5. (b)

  16³ 17³ 18³ 19³

70

(16 17 18 19)k
 

70

  
   

70k
= = 0

70

6. (a)

12345678910 ....... 2425 is divided by 4

on dividing by 4 we take last 2 digit 
25

=
4

Remainder = 1

7. (d)

    1 99 10010 10² 10³ ........ 10 10

6




4 100
= 4

6

8. (b)

469 268 469 2682 3 2 3
=

22 22 22




5 93 5 53(2 ) 2³ (3 ) 3³

11 22

 


93 5332 8 (243) 27

11 22

 


(–1) 8 1 27

11 22

 


– 8
5

11


3

11
+5 = 6 + 5 = 11

9. (b)

7 77 7777777777 7 .....7

6

 

1 777777777

6


= So, Remainder = 3

10. (c)

1023 – 1024
=

7

102 – 2 (2³)³ 2 – 2
= = = 0

7 7



11. (d)

5555 22222222 5555

7




5555 22223 4
 

7

5 1111 1111 1111 1111(3 ) (4²) (243) (16)

7 7

 
 

  It is divisible by 243 + 16

243 16 259
=

7 7


 Remainder = 0
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12. (b)

 
n

3
 = Remainder (2)

7n

3
 = Remainder (2)

13. (a)

  N = 18d + 7

N (18d 7)
= = n

12 12


 Remainder

Put d = 1  

(n)
25

1=
12

d = 2   
43

= 7
12

d = 3         
61

=
12

 1 (Repeat)

So, n Take only 2 values.

14. (c)

N = 33d + 4

N 33d 4
=

55 55



Put d = 1

37
= 37

55
 (but not in option)

d = 2, 
70

= 15
55

   (ii)

d = 3, 
103

= 48
55

  (ii)

d = 4, 
136

= (26)
55

 not in option

169
= 5,

5
 = Remainder = 4

15. (d)

Let no. = 10a + b

A.T.Q,

1
(a b) = (10a b)

7
 

3a = 6b

a 2
=

b 1

2x – x = 4

x = 4

a = 8, b = 4

No. = 10 × 8 + 4   = 84

After reversing digit

No. = 48

Remainder 
48

= = 6
7

16. (d)

Observe that in the series 5! onwards every
number is divisible by 5 i.e. the remainder in
each case is 0.

So, the required remainder is obtained by
dividing only the first 4 number i.e.

1! 2! 3! 4!

5

  
 

1 2 6 24
=

5

  
  

33
= R (3)

5


17. (a)

1 2 3 4 5 6 7 8 9 10 11 ........... 100
1  10
2  11
3  12
4    .
.    .
.    .
.    .
.    .
.    .

9             54

9          90  = 99 digit

1 2 3 4 5.........5 3 5 4 5

9

       
 

360
=

9

Remainder = 0

18. (b)

N = 55³  17³ – 72³

Factor (55 + 17) = 72






72[55² + 17² – 55 × 17 – 72²]

72[3314 – 935 – 5184]

– 72 × 2805

Divisible by 3 & 17

19. (b)

Let N be 3 digit number and r be remainder

So, (573921 – r) and (575713 – r) will be
divisible by it means their difference is also
divisible by N.

Difference = (575713 – r – 573921 + r)

   = 1792

        1792 = 256 × 7

So, N = 256
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20. (d)

N = (24³ + 27³) + (25³ + 26³)

= (51) (24² + 27² – 24 × 27) + (51) (25² + 26² –
25 × 26²)

= 51 [24² + 27² – 24 × 27 + 25² + 26² – 25 × 26]

Divisor = 102 = 51 × 2

N is multiple of divisor

So, remainder = 0

21. (b)

292929

9

2929
= 1

4
 (Cyclycity)

129

9
= 2 = So, remainder = 2

22. (b)

   73 75 78 57 197

34

Rem 
  5 7 10 23 – 7

=
34

 
38

= = 4
34

23. (c)

    73 75 78 57 197 37

34

Remainder 
    5 7 10 23 27 3

=
34

                   
  35 46 81 5

=
34

1 12 13 5 156 5 20 5
= = =

34 34 34

    
 = 32

24. (d)

10225

17

102 34 3425 (25³) (–2)
= =

17 17 17

4 8(–2 ) (–2)² 1 4
= = = 4

17 17

 

25. (d)

16

1

5
R =

6
 = 1

25

2

5
R =

6

= – 1 + 6 = 5

1 2

2

R R 1 5 6
 = =

R 5 5

 


26. (a)

n = 624d + 53

n 624d 53
=

16 16



677

16
 = So, remainder = 5

27. (d)

We know that,

Number = Quotient × divisor + remainder

So, start from last

Last no. = 7 × x + 5

First no. = 3 (7x + 5) + 2

= 21x + 17

So, 
21 17

21

x

Remainder = 17

28. (c)

47 4731 43

37

We know that an + bn is always divisible by (a
+ b) when n = odd

So, (a + b) = (31 + 43) = 74

74 is also a multiple of 37

So, Remainder = 0

29. (d)

If (224 – 1) is divided by 7

We know that, (an – bn) is always divisible by
(a + b) and (a – b) when n = even.

So, (a + b) = 3

Remainder is 1 always

Here 1040 is multiple of 130, and 2, 131 are
co-prime to each other.

Hence remainder is 1.

30. (b)

A.T.Q,


n Rem

6 5

 

Rem9n
9 56 =

6

      = 3
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31. (d)

 335 608 853

13

Remainder 
 10 10 8

=
13

20 40
=

13
= 7 × 1 = 7

32. (c)

1! 2! 3! ......... 100!

18

   

1 2 6 24 120 720 ........

18

     

All term after 720 divisible by 18

So, Remainder 
153

= = 9
18

33. (a)

3333.......300 times

999

It is divisible by 111 & 9 both

So, Remainder = 0

34. (a)

4030

7


  

40 132 (2³) 2
  = 1 2

7 7
 = 2

35. (d)

87521

17

875 418 34 (4²) .4
= =

17 17

418(–1) .4².4
=

17
 

– 4
= =13

17

36. (b)

10402

131

We know that fermet's theorem 
(p–1)a

=
p

(131–1) 8[2 ]

131
= So, remainder = 1

37. (d)

2727 27

28

Remainder = – 1 – 1

    = – 2 + 28

    = 26

38. (c)

A.T.Q,

427

48
 

21(7²)
=

48


21(49)

 
48

 Rem = 1

39. (d)

Let no. is k.

A.T.Q,


k Rem

7 4

 
k² Rem

 
(4)²7 =
7

              = 2

40. (c)

Let no. be k

A.T.Q,

 
k Rem

 
363 17

 
Remk

 
1711 =
11

              = 6

41. (c)

2x – 1 = 0 
1

  = 
2

 x

Remainder 
4 2

1 1 1
= 3 – 2 4 – 1

2 2 2

   
         
   

3 1
= – 2 – 1

16 2


3 – 8 32 – 16 11
= =

16 16


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42. (a)
Let no. be k
A.T.Q,


k Rem

221 30

 
Remk

 
3013 =
13

               = 4

43. (a)

If the no. 1 2 3 4 5 6 7 8 9 is divided by 9

So, 
       1 2 3 4 5 6 7 8 9

9

Remainder = 0

44. (a)

A.T.Q,

1919 20

18
 = 1 + 2 = 3

45. (c)

(m12 – 112) divided by (m + 1)

we know that, (an – bn) is always divisible by
(a – b) and (a + b) when n = even.

So, remainder = 0

46. (b)

A.T.Q,


n Rem

3 2

 


7n Remainder
 

3 7 2

            
14

=
3

 = 2

47. (d)

5 5 5 5 5 51 2 3 4 5 ......50

5

    

Factor (1 + 2 +  3 + 4 + .......... + 50)

50 51
=

2



So, Remainder 
50 51

=
2 5




 = 0

48. (b)

 77 85 73

9

Remainder 
 


5 4 1

 
9

    
20

 
9

 = 2

49. (a)

   273 375 478 657 597

25

Remainder = – 2 + 0 + 3 + 7 – 3

                  = 5

50. (a)

Given, (1213 + 2313)

13 13(12  + 23 )

11

1 + 1 2
=  = 

11 11
 So, remainder = 2

......-------......
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